AN

ElﬁP.MﬂlFF
5%%%3 i

d2

“ f

a = 1 o o = X o
Rl == SRR o= J} j
G & S e e G 6
RERITE I FEREEEE o vt g JERERIE N
Ci B: Ci B:
CF..MAB CF.VMAB B B
CF10(V)MABK~ CF10-1(V)MABK CF12(V)MAB~ CF18(V)MAB
BCF..MAB 28 T 35108 BG
= il ey Rt (mm) EAGE | EXAHEE =N RVFEEER HIEHETREN =N =
BEERE ‘ BB | BRE | ANEE % =R
- R500(CF10 ~ CF18)
|| A
00> R S (I e U o =1 )= < Bl | & | e 0N ) | B
. . . rs f Cr Cor E =SB | BkESNE g
/N Sk kst 5 oo
h7aZ | ZEHE | HEHE | THHE | FEHE D0 | C |d G |G| Bl | B2 B3 1CHd2) H an| g/ N N Az 7 N N Nmo k)
CF10MABK CF10OMUUABK  |CF10MRABK CF10MUURABK 4950 6310 6 860 17 000
10 _8‘015 22 12 |10 M10x1 12| 36 |23 — 10.6|— 5 0.3 15 4700 1670 15 45
CF10VMABK CF10VMUUABK |CF10VMRABK CF10VMUURABK 8740 13 340 7 450 7 500
CF10-1MABK CF10-TMUUABK |CF10-1MRABK  |CF10-1MUURABK 4950 6310 6 860 17 000
10 _8‘015 26 12 [{10] M10x1 12 23 — 10.6|— 5 0.3 15 5490 2060 15 60
CF10-1VMABK  |CF10-1VMUUABK |CF10-1VMRABK |CF10-1VMUURABK 8740 13 340 7 450 7 500
CF12MAB CF12MUUAB CF12MRAB CF12MUURAB 7 300 9010 9800 14 000
12 | 2., 30 | 14 |12 M12x1.5 [13| 40 |25 6063/ 6 |06 20 7 060 2450 22 95
CF12VMAB CF12VMUUAB  [CF12VMRAB CF12VMUURAB 12 350 18 120 11270 6 000
CF12-1MAB CF12-IMUUAB  [CF12-1MRAB CF12-IMUURAB 7 300 9010 9800 14 000
12 | 0., 32 | 14 |12| M12x1.5 [13| 40 |25 6063/ 6 |06 20 7 450 2740 22 105
CF12-1VMAB CF12-1VMUUAB [CF12-1VMRAB  |CF12-1VMUURAB 12 350 18 120 11270 6 000
CF16MAB CF16MUUAB CF16MRAB CF16MUURAB 11080 16 860 18 330 10 000
16 —8.018 35 18 [16| M16x1.5 |17| 52 (325 8 08| 3 6 0.6 24 11 200 3140 58 170
CF16VMAB CF16VMUUAB  |CF16VMRAB CF16VMUURAB 19020 34610 19 800 4500
CF18MAB CF18MUUAB CF18MRAB CF18MUURAB 13520 23180 25200 8500
18 -8.018 40 20 (18| M18x1.5 |[19| 58 |36.5 8 0.8 3 6 1 26 14 400 3720 87 250
CF18VMAB CF18VMUUAB  |CF18VMRAB CF18VMUURAB 23 250 47 240 26 560 3500
CF..MAB ZEVEIZMF SLFR M E ML (GRighsnE) , BN REBERTL. SMERZE (um) {4
*HEHE, BAEETE. NRLHNE, BAAFETEZBEN 130% £ e EFSNE | BKESNE ,
BEE M R T0%. CF10,CF10-1,CF12 0/-9 0/-50 e @
CF12-1,CF16,CF18,CF20-1 0/-11 0/-50
CF20,CF24,CF24-1,CF30 0/-13 0/-50 R REmEE
CF30-1,CF30-2 0/-15 0/-50 FEkR T Ei‘ﬁ%é

230 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 231



AN

ﬂﬁ&Mﬂlﬁ:
5%%%3 i

©) & La J o =
= i : - NN
- QI ] TR IE - TRTERIER
- N Ci B.
= T Ty, CF.MAB CF.VMAB B
BMCF..MAB 28 e ;8 AE
= HKAKE R=F (mm) BEAHE | BEXTE =N RIFEEE HIBEETrREN] PN RE
BEERE « WO | MO | ANEE % FEEE
- R1000(CF20 <)
| G| A
0){ N (N S O ) e B A )= ] 0y o Bl & ts | o ON | 2
= i = i I =] 1= o
h7A% | REHE | HEHE | TEHE | HEHE | b | ¢ |d| 6 |G| Bl | B B3 lalal v | ] 4 ey N om | BIESNE | SKESME | g
SN &\ N N N N (X%
CF20MAB CF20MUUAB  |CF20MRAB  |CF20MUURAB 19020 | 31830 | 32140 | 7000
20 _8'021 52 | 24 |20| M20x1.5 [21| 66 |405 9084 8 |1 36 23200 8230 120 460
CF20VMAB  |CF20VMUUAB |CF20VMRAB  |CF20VMUURAB 30470 | 59320 | 32140 | 3500
CF20-IMAB  |CF20-IMUUAB |CF20-IMRAB  |CF20-1MUURAB 19020 | 31830 | 32140 | 7000
20 | ° 47 | 24 |20| M20x1.5 [21| 66 405 9108| 4 1 36 21000 7150 120 385
-0.021
CF20-1VMAB  |CF20-IVMUUAB |CF20-1VMRAB |CF20-1VMUURAB 30470 | 59320 | 32140 | 3500
CF24MAB CF24MUUAB  |CF24MRAB  |CF24MUURAB 28040 | 48410 | 49500 | 6500
24 | ° 62 | 29 |24 M24x1.5 [25| 80 495 11 (08| 4 1 40 34200 | 10500 220 815
-0.021
CF24UMAB  |CF24VMUUAB |CF24VMRAB  |CF24VMUURAB 42820 | 84650 | 49500 | 3000
CF24-IMAB  |CF24-IMUUAB |CF24-IMRAB  |CF24-1MUURAB 28040 | 48410 | 49500 | 6500
24 _8‘021 72 | 29 (24| M24x1.5 |25| 80 |49.5 11 10.8| 4 1 40 39800 12 900 220 1140
CF24-1VMAB  |CF24-1VMUUAB |CF24-TVMRAB |CF24-1VMUURAB 42820 | 84650 | 49500 | 3000
CF30MAB CF30MUUAB  |CF30MRAB  |CF30MUURAB 41740 | 78250 | 73700 | 5000
30 _8‘021 80 | 35 [30| M30x1.5 (32| 100 |63 151 |4 1 46 52600 | 14900 450 | 1870
CF30VMAB  |CF30VMUUAB |CF30VMRAB  |CF30VMUURAB 62210 | 132530 | 73700 | 2200
CF30-IMAB  |CF30-IMUUAB |CF30-IMRAB  |CF30-1MUURAB 41740 | 78250 | 73700 | 5000
30 ° 85 | 35 [30| M30x1.5 (32| 100 |63 1501 |4 1 46 56000 | 16100 450 | 2030
-0.021
CF30-1VMAB  |CF30-1VMUUAB|CF30-1VMRAB |CF30-1VMUURAB 62210 | 132530 | 73700 | 2200
CF30-2MAB  |CF30-2MUUAB |CF30-2MRAB  |CF30-2MUURAB 41740 | 78250 | 73700 | 5000
30 | ° 90 | 35 |30 M30x1.5 (32| 100 |63 1501 |4 1 46 59300 | 17300 450 | 2220
-0.021
CF30-2VMAB  |CF30-2VMUUAB|CF30-2VMRAB |CF30-2VMUURAB 62210 | 132530 | 73700 | 2200
% CF..MAB BUZE08AE SLRBLIAS A7, (SBAEME), SBEEONRE 7L SMERE (um) ey %
EEHHE, EANEETE. NRLWTE, BALFETEILIMER 1306 EAHE e EFESNE | KESE -
A, MUE AR E R T0%. CF10,CF10-1,CF12 0/-9 0/-50 sem w
CF12-1,CF16,CF18,CF20-1 0/-11 0/-50
CF20,CF24,CF24-1,CF30 0/-13 0/-50 R R T
CF30-1,CF30-2 0/-15 0/-50 Rl B e Efﬁé’é
232 NOSE SEIKO CO.,LTD. NOSE SEIKO CO.,LTD. 233





